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Abstract

Neither law schools nor their admissions officers care about the whole person.
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Nevertheless, experience shows that two factors may significantly enhance
your performance during the hour of truth: (1) familiarity with the style of
LSAT questions, and (2) a good supply of anti-diuretics. The latter can be
obtained at any drug store. The former can be had from the following
sample questions.

SAMPLE LSAT QUESTIONS
L. Reading Comprehension

Directions:
Read each passage below and answer the questions following each

passage by blackening the space beside the answer you believe is most
nearly correct.

1. "It was the best of times, it was the worst of times, it was the age of
wisdom, it was the age of foolishness -« . [read the novel A Tale of Two
Cities, attached to your exam booklet] . . . it is a far, far better rest that I go
to than I have ever known."

Question: In the above story, what time is it?
O (a) The best of times.

O (b) The worst of times,
O (c) The New York times.
O (d) About 2:00 o’clock.

2. "Know thyself."

Question: In the above passage, the writer is . ,

O (2a) Quoting Plato.

O @) Advocating a solipsistic approach to epistemology.
O (o Employing an archaic usage.

O () Describing your social life,

IL  Analytical Reasoning

Directions:
In this section You are given a question based on a stated set of

conditions. Choose the best answer and mark the corresponding space
beside the answer,
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1. Einstein’s theory of relativity postulated that there can be 10

motion at a speed greater than that of light in a vacuum, and time is
dent on the relative motion of an observer measuring the time. If a

hydrogen bomb electron is accelerated at a rate of [T¥/speed of light through
an inverse hypermagnetic positron field and then bombarded with neutrons
in a nuclear pile critical core reaction, what time is it?

O (a) The best of times.

O (b) The worst of times.

0 (c) About 2:00 o’clock.
O (d) Time to think about business school.

2. For a dinner party, Missy must prepare several
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garbanzos. Note that (1) chili beans and lima beans o not taste good
ood together
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embarrassed glances

together, and (2) lima beans an
Missy can prepare how many
[0 (a) Nine that resemble the b
O (b) Four that will have her guests exchanging
- within ten minutes.
() Two that her pet oat would not eat.
0 (d)) None of the :Ifovge——-if you want 10 be a bean counter, take the

CPA exam.
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2. Ramona said, "All dogs bark. This animal does not bark,
Therefore this animal is not a dog."
Which of the following most closely parallels the logic of this
statement?
O (a) Cats do not bark. Cats climb trees. Trees have bark.
O @ Lawyers overcharge. Taxi meters overcharge. Lawyers are taxi
meters.
O () George sells cars, Every car sold by George is poorly built,
George is a Chrysler dealer.
O (d) Dogs bay at the moon. Your date bays at the moon. You would
be better off getting to know thyself.

IV. Evaluation of Facts

Directions:

This section consists of a set of rules followed by a factual situation.
You are required to apply the rules to the facts, blackening the space beside
the answers that best reflect the apparent meaning of the rules.

Question. On trial for first degree murder, the employee of Sydney’s
Unisex Barbershop should be found:

O (a) Clearly guilty of taking too much off the top.
O (b) Not guilty because of assumption-of-risk principles respecting
unisex barbershops,

O (o Guilty but nevertheless 2 suitable candidate for mayor of Chicago.
O (d) About 2:00 o’clock,
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